
Přeformulujte.

Vzor: It was so cold that I didn’t go out.  →   If it hadn’t been so cold I would 
have gone out.

e)  I didn’t do any shopping because I didn’t have time.
f )   It started raining and so we had to stop playing.
g)  Helen didn’t go to the party because she wasn’t in the mood.

Rewrite as shown.

e)  I would have done some shopping if I had had time.
f )   If it hadn’t started raining we wouldn’t have had to stop playing.
g)  Helen would have gone to the party if she had been in the mood.


